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Simplify.

1) V180xy?

3) V75x%y?

5) 245 —2v5 12412

7 3715

2) 24x%y

1) Ve3xy?

6) 327+ 254 +2/6

8) 23.-6\2
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Simplify each expression.
9) (26 +20° +4b*) + (6 — 50* +25°)

11) (6-4p° + p*) - (6p° + p* - 4)

Find each product.

13) (8p-4)5p-5)

15) (x+8)(x>—3x—-6)

10) (1+26> — 4b)— (7 +4b +20?)

12) (1-2x° - 4x) + (x* - 8x—8)

14) (5v-2)4v-7)

16) (6k+ 6)(3k* — 6k —5)
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Answers to Assignment (ID: 1)

1) 6y\/5x 2) 26y 3) 5x1/3y 4) 30770y

5) —4/5 +4+/3 6) -9V3 +86 7) 215 8) 1276

9) —b* +4b>+2b+6  10) -8b—6 11) ~10p° + 10 12) > —12x-7
13) 40p> — 60p +20 14) 20v* —43v + 14 15) x* +5x% - 30x - 48

16) 18k° — 18k* — 66k — 30




